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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 Give answer of the following questions.

	 (i)	 What is Quadratic Function?

		  {ÛKmVr ’$bZ ³¶m h¡?
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	 (ii)	 What is Regression?

		  àVrnJ‘Z {H$go H$hVo h¢?

	 (iii)	 What do you understand by random sampling?

		  ¶mÑpÀN>H$ à{VM¶Z go Amn ³¶m g‘PVo h¡?

	 (iv)	 Define Index number.

		  gyMH$m§H$ H$mo n[a^m{fV H$s{OE&

	 (v)	 Define probability.

		  àm{¶H$Vm H$mo n[a^m{fV H$s{OE&

	 (vi)	 Write the formula of correlation?

		  ghgå~ÝY H$m gyÌ {b{IE&

	 (vii)	What is Skewness?

		  {df‘Vm ³¶m h¡?

	 (viii)	What do you know about normal distribution curve?

		  Amn àgm‘mÝ¶ {dVaU dH«$ Ho$ ~mao ‘| ³¶m OmZVo h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Explain the relationship between sets.

	 g‘wÀM¶m| Ho$ ‘Ü¶ g§~§Ym| H$s ì¶m»¶m H$s{OE&
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3)	 Explain Consumer Surplus.

	 Cn^mo³Vm H$s ~MV H$s ì¶m»¶m H$s{OE&

4)	 Make a table of cumulative frequency.

	 g§M¶r ~maå~maVm H$s EH$ gmaUr ~Zm¶o&

5)	 What are the types of correlation? Explain.

	 ghgå~ÝY {H$VZo àH$ma H$m hmoVm h¡? g‘PmBE&

6)	 In an examination of 10 students have received marks in 
Economics and statistics as given below. Find correlation 
coefficient by rank difference method.

	 EH$ narjm ‘| 10 N>mÌm| Ûmam AW©emñÌ Ed§ gm§p»¶H$s ‘| àmßV A§H$ 
{ZåZmZwgma h¡& H$moQ>r-AÝVa {d{Y Ûmam gh-gå~ÝY JwUm§H$ H$m n[aH$bZ 
H$s{OE&

(Roll No.) AZwH«$‘m§H$ 1 2 3 4 5 6 7 8 9 10

(Marks in Economics) 
AW©emñÌ ‘| àmßVm§H$ 45 56 39 54 45 40 56 60 30 36

(Marks in Statistics) 
gm§p»¶H$s ‘| àmßVm§H$ 40 36 30 44 36 32 45 42 20 36

7)	 Explain test of significance in small sample.

	 bKw à{VXe© ‘| gmW©H$Vm narjU H$s ì¶m»¶m H$s{OE&

8)	 How many types of Two-dimensional diagram? Explain.

	 {Û{d‘r¶ {MÌ {H$VZo àH$ma Ho$ hmoVo h¡& ì¶m»¶m H$s{OE&

9)	 Explain standard deviation and coefficient of variation.

	 à‘mn {dMbZ d {dMaU JwUm§H$ H$s ì¶m»¶m H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 What is sampling? What are its objects? Critically examine the 
well known methods of probability sampling and non probability 
sampling.

	 à{VM¶Z ³¶m h¡? BgHo$ ³¶m CÔoí¶ h¡? àm{¶H$Vm à{VM¶Z Am¡a J¡a 
àm{¶H$Vm à{VM¶Z H$s gwà{gÕ ar{V¶m| H$s {ddoMmZmË‘H$ g‘rjm H$s{OE&

11)	 What is time series? Explain briefly the methods of measuring 

trends.

	 H$mb loUr ³¶m h¡? CnZ{V H$mo ‘mnZo H$s ar{V¶m| H$mo g§jon ‘| g‘PmBE&

12)	 Explain any two of the following:

	 {ZåZ ‘| go {H$Ýht Xmo H$s ì¶m»¶m H$s{OE&
	 (i)	 Explain importance of input output modal.

		  BZnwQ> AmCQ>nwQ> ‘m°S>b H$m ‘hÎd {b{IE&
	 (ii)	 Prove that

		  {gÕ H$s{OE&
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(iii)	 If A = 
1
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 h¡ Vmo A–1 kmV H$amo&

13)	 Find out Integration of any four of the following:

	 {ZåZ ‘| go {H$Ýht Mma H$m g‘mH$bZ kmV H$s{OE&

	 (i)	 dx3 x4y
	 (ii)	 xex dx6 62+y
	 (iii)	 log dx#y

	 (iv)	
x x

x dx
2 1

3
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	 (v)	 x x dx1-_ iy


